I e ver
\l National Testlng Agency

| Exceflence in Assessmont |

Test Date : 10 sep 2022 Test Slot : siot 1

[Subject : PGQP74-Pottery & Ceramics

Sl. No.1
QBID:1555041

Choose the correct form of verb to fill in the blank :

Risks come from not what you are doing ?

(1) have known
(2) known

(3) knowing

(4) know

T E S s v e e 8 ?
(1) 7

(2) 4

3 T

4) H

1[Option ID=31201]
2[Option ID=31202]

3[Option ID=31203]
4[Option ID=31204]

Sl. No.2
QBID:1555042

Choose the appropriate preposition to complete the sentence :

Her request for a transfer was turned
(1) up

(2) for

(3) down

(4) through

i &1 ey few Mo &
HYE [ - 9180 HIT F1 U sers & w1 e vig o1 iER #1 oed wan
FUTI] : 150 & Ue O YR T P oh & - T F YR 0T Teg & STYR 9% 997 31 & 31N W |

TRIed B & A §, -1 180 70 TP A ¥ 999 I0gad I B 997 S
(1) P I SR 11 a1 Wt 2

(2) YA ARl eFf Toa &

(3) v W8 B, WA FuA 11 o

(4) T 1 790 & AT U 11 981 2

1[Option ID=31245]
2[Option ID=31246]
3[Option ID=31247]
4[Option ID=31248]

Sl. No.3
QBID:1555043

Pick out the correctly spelt word.
(1) impromptu

(2) inprounptn

(3) inpromputue

(4) mproptune

TEUE &1 [E0H Fasy |

(1) was

(2)




E=ni
(3) &

(4) sodl®

1[Option ID=31273]
2[Option ID=31274]
3[Option ID=31275]
4[Option ID=31276]

Sl. No.4
QBID:1555044

Identify the correct mdirect speech of the following sentence.

He said to me. "I don't believe you"

(1) He said that he doesn't believe me

(2) He told me that he didn't believe me.
(3) He told me that he didn't believed me.
(4) He told me that he didn't believe him |
PN L S R R A LTI R e el
(1) =

(2)

(3) =g

(4) =FifEm

1[Option ID=31277]

2[Option ID=31278]

3[Option ID=31279]
4[Option ID=31280]

Sl. No.5
QBID:1555045

Rearrange the following parts of a sentence labelled PQRS to make a meaningful sentence.
P. overflow of powerful

Q. recollected in spontaneous

R. Poetry is a spontaneous

S. feelings - emotions
(1) QSRP

(2) RPSQ

(3) QSPR

(4) SQRP

S B A BT WAL T ?
1) f&m

(2) dm

(3) @c

(4) ¥

1[Option ID=31281]
2[Option ID=31282]

3[Option ID=31283]
4[Option ID=31284]

Sl. No.6
QBID:1555046

Pick out the antonym of 'strength’

(1) meckness

(2) revenge

(3) frailty

(4) euergy

o1 Sifl % W g 1 U Wk B W E ?
(1) SHGH

(2) T




(3) A&

(4) Tdg

1[Option ID=31285]
2[Option ID=31286]
3[Option ID=31287]
4[Option ID=31288]

Sl. No.7
QBID:1555047

Choose the correct sentence.

(1) He had not left. we would have been forced to evict him
(2) Hadn't he left we would have been forced to evict him.
(3) Had he not left. we would have been forced to evict him

(4) He not had left. we would have been forced to eviet him.
FfeEt T T HET 1 wet s S W 2

(1) 9@ &

(2) SRR &L

(3) TE H AT

(4) =90 FLAT

1[Option ID=31289]

2[Option ID=31290]

3[Option ID=31291]
4[Option ID=31292]

Sl. No.8
QBID:1555048

Choose the correct passive voice form of the following sentence.

He may have eaten the cake.

(1) The cake might have been eaten by them.
(2) The cake may have been eaten by him.
(3) He had eaten the cake.

(4) The cake might have been eaten by him.
FaftiEs ¥ 9 g% 990 &1 997 S |

(1) =i ¥ By 7 B |

(2) == W By 7T B |

(3) == & Bl By H |

(4) == & Y ol B |

1[Option ID=31293]

2[Option ID=31294]

3[Option ID=31295]
4[Option ID=31296]

Sl. No.9
QBID:1555049

Pick out the synonym of the following word - 'captivating'.
(1) disappointing

(2) frightening

(3) fasciating

(4) frank

FrafafEe # 3 aom s 8T 7 |

(1) s

(2) g%

(3) e

(4) F=R

1[Option ID=31297]
2[Option ID=31298]
3[Option ID=31299]
4[Option ID=31300]

Sl. No.10
QBID:15550410




Identify the part of speech of the underlined word in the following sentence.

Let us even the ground.

(1) Verb

(2) Adverb

(3) Noun

(4) Adjective
TrRT s M e SR e |

(1) & F =it gt &1 vgm Swmel S S e
(2) oot & g 79§ f&f7, T IR ERF e G |
(3) fadouli & e =R We fEe T E |

(4) FEATHS fEm & < 42 § - 99 iR 3 |

1[Option ID=31205]
2[Option ID=31206]
3[Option ID=31207]
4[Option ID=31208]

Sl. No.11
QBID:15550411

Who has been appomted as the new chief economic advisor (CEA) to the Government of India ?
(1) V Anantha Nageswaran

(2) Arun Kumar Singh

(3) Vijay Sharma

(4) Kartik Sen Gupta

270 4 DI URA PR & Y T 1% HAgdR (Hisy) & 0 J YR gl s 2

(1) gl 3T TR

(2) R0 FHARNE

(3) faw =mi

(4) T S

1[Option ID=31209]
2[Option ID=31210]
3[Option ID=31211]
4[Option ID=31212]

Sl. No.12
QBID:15550412

Which of the following companies are among the recently created 7 new Defence Public Sector Undertaking Companies, which were
created through restructuring of OFB (Ordiance Factory Board) ?

A. Weapons India Limited
B. Munitions Indian Limited
C. Yantra India Limited

D. Gliders India Limited

Choose the correct answer from the options given below :
(1) A B and D only

(2) Cand D only

(3) A. C and D only

(4) B. C and D only

e SE-3 duiat J em §@ F 7 7 adete e Suss Suliat wifta &1 § e ey i e #1 gl s $ A | wifig e mn
ur?

A, 90T fEar Rfies

B. =g o givsa fRifacs
C. 77 sfEm fifes

D. WssH sfogan fafies

i fau U fowedl H ¥ 99 Suge ST @1 999 S
(1) Faw A, BRD




(2) FFAC IARD
(3) FAWA. C 3R D
(4) ®IUB, C @R D
1[Option ID=31213]
2[Option ID=31214]

3[Option ID=31215]
4[Option ID=31216]

Sl. No.13
QBID:15550413

Name of the autobiography of Kamala Das is :
(1) My Story

(2) ListenI Tell You

(3) Wings of Fire

(4) Autobiography of an Unknown Indian

HHAT STF B1 BT BT 7 &

(1) =75 €/

(2) TR em@ 2y

(3) fd 3fiF ®wEx

(4) SHESERERTE! HE = SfEad
1[Option ID=31217]

2[Option ID=31218]

3[Option ID=31219]
4[Option ID=31220]

Sl. No.14
QBID:15550414
A small organ at the base of the brain that produces substances that affect growth and sexual development (hormones) is called :

(1) Pituitary Gland
(2) Hypothalamus
(3) Pineal gland

(4) Adrenals
AT F YR # T 0P a9 o 59 TeR & 99 B S0@d FXa1 ¢ o GANI gha IR ANE [9E ) S THIfEd Sl 8, 98 71 Seandl ©

A, Teged o
B. sEgidTEd
C. difge il
D. TgiHd

A fau Y Feed] H ¥ 99 Sugsd ST &1 994 ST

(1) FIAA. B3R D

(2) FaA A IR C
(3) FAWA. B R D
(4) FAA A IRD

1[Option ID=31221]
2[Option ID=31222]
3[Option ID=31223]
4[Option ID=31224]

Sl. No.15
QBID:15550415

Who among the following is the first woman to receive two Nobel Prizes ?

(1) Marie Curie

(2) Andrea Ghez

(3) Donna Strickland

(4) Maria Goeppert Mayer

frmfafean & @ < S0 R WId $3 el e ARm EE E 2
(1) F =l
(2) uivgm &9




(3) gmEsds
(4) wifean Tewd R

1[Option ID=31225]
2[Option ID=31226]
3[Option ID=31227]
4[Option ID=31228]

Sl. No.16
QBID:15550416

In a certain code language

"uo ja ka hu" means 'we great Indian country’,
"o1 ka la ju" means 'we score good highest'.

"la fu ja ju" means "India score the highest”

and "ju uo na fu" means "highest of the country”.

Then what is the code of "great” in this code language ?
(1) uo

(2) ka

(3) ja

(4) hu

U foRY e v |

"uo ja ka hu" #1 37 & 'we great Indian country’,
"oi ka la ju" #1 3% & 'we score good highest'.

"la fu ja ju" #1 o & "India score the highest"

3R "ju uo na fu" 1 3~ § "highest of the country”.

59 Fe U H "great” FTHT IR ?
(1) uo
(2) ka
(3) ja
(4) hu

1[Option ID=31229]
2[Option ID=31230]
3[Option ID=31231]
4[Option ID=31232]

Sl. No.17
QBID:15550417

If "A@B" means A is the mother of B
"A#B" means A is the father of B

"A  B" means A is the son of B
How is X related to Z from the given equation ?

XzYz Z
(1) X s the grandson of Z.
(2) Z is the grandson of X.

(3) Z is the father of X.
(4) Z is the mother of X




g A@B w2 fF A BHFI AR
"A#B E M EfE A BEIUEIE

"Az B'# B A BRI ER
G S MR R X T Z S =2 ?

XzYszZ

(1) X, ZF U@ e |
(2) Z.XFU@E I
(3) Z.X® g |
(4) ZXFA@ME |

1[Option ID=31233]
2[Option ID=31234]
3[Option ID=31235]
4[Option ID=31236]

Sl. No.18
QBID:15550418

Global Hunger Index is released by which of the following organizations ?
(1) World Health organisation

(2) Concern Worldwide & Wealthungerhilfe

(3) Food and Agriculture organisation

(4) World Food Programme

FroftifEa # 9 91e g 3fe Yo Eeie ol B 9 & ?

(1) fay wreg e

(2) B AES TS dRER A5E

(3) @ ud HY H1e

(4) fay T SRiwA

1[Option ID=31237]
2[Option ID=31238]
3[Option ID=31239]
4[Option ID=31240]

Sl. No.19
QBID:15550419

Seven dance students- T, U, V. W, X, Y and Z - are to give a performance, and the judges have to decide the sequence in which they
will perform. Each student will perform exactly one item. a solo ballet. In deciding the order of performance. the instructor must observe

the following restrictions :

1. X cannet perform first or second.

2. W cannot perform until X has performed.

3. Neither T nor Y can perform seventh.

4. Either Y or Z must perform immediately after W.

5. V must perform either immediately after or immediately before U.

If U performs third, what is the latest position in which Y can perform ?
(1) Fifth

(2) Sixth

(3) Seventh

(4) Fourth




R mrs e -T.U,VW.X. YIRZ- s @i FHA iR s mfhsme T eramargu @ i mem s
1% U T 1 & - TP UHT 90 & O H | W 31 v Huid w0 999 Fowe o B afiesit 1 aee s s § -

. X UES 1 gEX B W Wi 98 § Tl |

X F Ui 2 | e WO TR & |9l |

AW T ARTEY I8 w0 R Il § e © |
W E gea ae Y U1 Z F Wid 41 gl |

.U % g3 Ugd 01 ged oI5 | V &1 w=gia &1 91y |

W - Ife U oy 78 W TRl SOt e o Y Sfiees o9 TR § §ear s ?
(1) of=d

(2) Fad

(3) =Ed

(4) =g

1[Option ID=31241]

2[Option ID=31242]

3[Option ID=31243]
4[Option ID=31244]

L Ja La b =

Sl. No.20
QBID:15550420

A country has seven major cities - A, B, C, D. E. F and G. Three flights labeled X, Y and Z are available to connect the cities following
the rules :

Flight X has its ends at A and C, and passes through B only.
Flight Y has its ends at B and C. and passes through D only.
Flight Z has its ends at E and G. and passes through F only,
Directly connected cities are those cities between which there is no other city to land any flight.

Which of the following city is directly connected to the most other cities ?
(1) A
(2) C
3) B
4y D

wémgwaggam%-A.B. C.D. E. F iR G. Fafafés Frodi & qod s su s Skl &1 sr A sy $ R dH s SsH X, Y, Z
SUTA T ;

TEAX A IRCHASHE iR Faa B I ToRd £ |
TR YFTRBARCREIMTEFIaD F 5157 o 7 |
TEFAZFTRE M GRE IR T Fa0F 5 ol & |

3 Tt &1 1Y ST g WET A o T & e i B STH & 9o & O Sl 9N R A6l §

T fdsr o R sl g e S T SR s & -
1) A

2 C

3) B

4) D

1[Option ID=31249]

2[Option ID=31250]

3[Option ID=31251]
4[Option ID=31252]

Sl. No.21
QBID:15550421

In how many different ways can the letters of the word AUCTION be arranged in such a way that the vowels always come together ?
(1) 676
(2) 476
(3) 578




(4) 576

AUCTION ¥eg & auil @1 ! seR & cgafud fowar o Twar &, fored 6 @) 9eq o @ o 2
(1) 676

(2) 476

(3) 578

(4) 576

1[Option ID=31253]

2[Option ID=31254]

3[Option ID=31255]
4[Option ID=31256]

Sl. No.22
QBID:15550422

The surface area of a cube is 1734 s.q. cm. Then volume of cube is...
(1) 289 cm?

(2) 4913 em?

(3) 4931 em?

(4) 4319 cm?

UF o %1 98T g3 1734 & 341 & @ 99 &1 smaan fEa e 2

(1) 289 ecm?

(2) 4913 em?

(3) 4931 em?

(4) 4319 em?

1[Option ID=31257]
2[Option ID=31258]
3[Option ID=31259]
4[Option ID=31260]

Sl. No.23
QBID:15550423
If v 1 .then :::2+y2
¥ B =
(1) —E
4
(2) 2
5
:3) 2
4
(4) i
5
W,y WPy REmEmo
y 3 £-y
(1) —E
4
(2) 2
5
:3) -
4
(4) i
5

1[Option ID=31261]
2[Option ID=31262]
3[Option ID=31263]
4[Option ID=31264]

Sl. No.24
QBID:15550424

How much time will it take for an amount of F 4.5% to yield F 81 of mterest at 4.5 % per annum of simple interest ?
(1) 4 years

(2) 5 years

(3)




3 years
(4) 0O years
Z 450 B R F R 4.5% 9 SRV AE S XA TE F FIH F 81 WK HA § foba=1 w57 R0 7
1) godf
(2) 5o
(3) 3ad
(4) gad

1[Option ID=31265]
2[Option ID=31266]
3[Option ID=31267]
4[Option ID=31268]

Sl. No.25
QBID:15550425

The average of 7 consecutive numbers is 20. Then sum of smallest and greatest number is
(1) 23

(2) 17

(3) 40

(4) 30

7 HHNTE SEIsl BT 1Ed 20 ¢ O 999 B4 U 9S9 S51 §E S 4 feaen 5 2
(1) 23

(2) 17

(3) 40

(4) 30

1[Option ID=31269]

2[Option ID=31270]

3[Option ID=31271]
4[Option ID=31272]

Sl. No.26
QBID:1011514841

What 1s mixed in red clay to reduce scumming ?
(1) Barium carbonate

(2) Magnesium carbonate

(3) Sodium silicate

(4) Bentonite

R i ae R A R S ama s g 9@ g ?
(1) Fhem FEHT

(2) A FEe

(3) wifsaw faferee

(4) =g

1[Option ID=30001]

2[Option ID=30002]

3[Option ID=30003]
4[Option ID=30004]

Sl. No.27
QBID:1011514842

Which of the following is used as Opacifier in high temperature glaze?
(1) Calcium Carbonate

(2) Boric Oxide

(3) Calcium Oxalate

(4) Zirconium Dioxide

et & 4 5= a9Fe W 9eH & eesmres s & R gar &

(1) Fiegan sEHe

(2) sifew ameaEs

(3) Fiegmw smee

(4) THifow sEaeaEs

1[Option ID=30045]
2[Option ID=30046]




3[Option ID=30047]
4[Option ID=30048]

Sl. No.28
QBID:1011514843

At what temperature does clay change mnto ceramic?
(1) 850°C-1000°C

(2) 1060°C-1200°C

(3) 600°C-650°C

(4) 1000°C-1100°C

T aroe= W I il Sfae F ofefda gl &
(1) 850°C-1000°C

(2) 1060°C-1200°C

(3) 600°C-650°C

(4) 1000°C-1100°C

1[Option ID=30089]

2[Option ID=30090]

3[Option ID=30091]
4[Option ID=30092]

Sl. No.29
QBID:1011514844

What is the role of feldspar in ceramic clay body?
(1) Stabilizer

(2) Flux

(3) To form glass

(4) Colour

R ] o avg ¥ BeswuR &1 ol Yl 82
(1) ™A@ & fog

(2) HiaE

@) T H

@ I

1[Option ID=30133]
2[Option ID=30134]
3[Option ID=30135]
4[Option ID=30136]

Sl. No.30
QBID:1011514845

What was the use of 'Kylix' in Greek civilization?
(1) Drinking cup

(2) Used for pouring oils

(3) Storage Jar for food grain

(4) Used for wine mixing

e Twd # Srafdes o1 og1 Sugi ur

(1) g are &

(2 dd S S o Iugi

(3) 3T & USRI BT U

(4) TRTE & fHyor F g

1[Option ID=30177]
2[Option ID=30178]
3[Option ID=30179]
4[Option ID=30180]

Sl. No.31
QBID:1011514846

In which of the following country 'Terracotta Warriors' were found?
(1) China

(2) India

(3) Italy




(4) Japan

e d B 3 ex H SRmepler $He Ul §id 82

) ==
(2) YHXd

3) Tt

(4) &4l

1[Option ID=30221]
2[Option ID=30222]
3[Option ID=30223]
4[Option ID=30224]

Sl. No.32
QBID:1011514847

Which of the following is the inner wall of the kiln which protects the pots being fired from the flames?
(1) AssPit

(2) Bagwall

(3) Saggar

(4) Damper

Froftfea # & 19 @ ugl 3 sfafie dor 2 & gt & woel o us w\g Tuel | S9m 8

(1) 3 fie

(2)

(3) s §5 -Hfws 9é

(4) 3fgHes

1[Option ID=30265]
2[Option ID=30266]
3[Option ID=30267]
4[Option ID=30268]

Sl. No.33
QBID:1011514848

Which one of the following is the right process of salt glaze?

(1) Give a thin coating of salt on glaze-ware and fire to high temperature.

(2) Salt is mixed in glaze and fired below 850°C in wood fire kiln

(3) Unglazed ware are fired to high temperatures and salt is introduced to produce a vapor that glazes the ware.

(4) Give a thin coating of salt and glaze the ware and fire to high temperature.

1 & I3 i o 31 We wiha &

(1) TCISl Hagls TR oqUl i gdell TR FGIPR 3= dIIAT U 31T ¢TI

(2) T | qaul i o S § SiR Wl T adbel A ST H 850°C ¥ K U@l Sl g |

(3) TS Jgis 3o dIIHH TR IS § SR aTsd Sdd HRd aqul Her 91dl § off s & Hifd Sl 8

(4) TAUI ST Oaa AU &A1 R Tegis B 0w R 3 19 IR I&H 1|

1[Option ID=30293]
2[Option ID=30294]
3[Option ID=30295]
4[Option ID=30296]

Sl. No.34
QBID:1011514849

Extremely plastic clay which can be added in small quantities to clay body to make it more plastic is:
(1) China Clay

(2) Wallostonite

(3) Fire Clay

(4) Bentonite

s gaen g < gl &1 avg %1 wrel guew s & T 5 g # fram o g

(1) = g

(2) dfErEe

(3) UFl g gt




(4) F<HTEE

1[Option ID=30297]
2[Option ID=30298]
3[Option ID=30299]
4[Option ID=30300]

Sl. No.35
QBID:10115148410

Which Chinese dynasty developed the poreelain ware?
(1) Tang Dynasty

(2) Hang Dynasty

(3) Han Dynasty

(4) Qin Dynasty

97 & fw Twdw 3 uikfen gwis # Gl o g

(1) &

(2) &1

(3) & T

(4) &= TwE=

1[Option ID=30005]
2[Option ID=30006]
3[Option ID=30007]
4[Option ID=30008]

Sl. No.36
QBID:10115148411

A firing process in which oxygen is present in the kiln to change the chemical composition of the glazes on clay objects is knows as:
(1) Oxidation Firing

(2) Reduction Firing

(3) Muffle Firing

(4) Sager Firing

GRS ucn%j 1 a5 wicean forad vl & Sufyd sifeiion Mgl &1 axgell 1R 99@ & IMue Yued &1 uRad- $dl ¢ 198 Hiobal
() S BERT

(2) 3=y HIERT

(3) AEHT R

(4) FoR BRI

1[Option ID=30009]
2[Option ID=30010]
3[Option ID=30011]
4[Option ID=30012]

Sl. No.37
QBID:10115148412

Why is sodium silicate used in slip casting clay body?
(1) Strength

(2) Deflocculation

(3) Plasticity

(4) Vitrification

g w1 arehl gt & wifsam fafeee =i faoa &2

(1) v @)

(2) f3-sufq

(3) HHcTd

(4) @A (ARFsEm)
1[Option ID=30013]
2[Option ID=30014]

3[Option ID=30015]
4[Option ID=30016]

Sl. No.38
QBID:10115148413




To purify or blend a ceramic material by the action of heating (upto 700°C-1000°C) is called:
(1) Frit firing

(2) Bisque Firing

(3) Calcine

(4) Burnishing

R verd o1 e S 31T JfH0T (700°C-1000°C 9%) TH $34 BT 3501 R $d & ol 39 B8 &
(1) fihe wareE (B

(2) fo%® wareH (B

() Sfc

@) iR

1[Option ID=30017]
2[Option ID=30018]
3[Option ID=30019]
4[Option ID=30020]

Sl. No.39
QBID:10115148414

Tin oxide with Chrome oxide can produce which of the following colour?
(1) Purple

(2) SeaBlue

(3) Pink

(4) Red

29 affemrgs, HiftE siegsgs & 9w g § S =19 91 31 30 =4 o7

(1) T

(2) o=t e

(3) el

(4) @@

1[Option ID=30021]
2[Option ID=30022]
3[Option ID=30023]
4[Option ID=30024]

Sl. No.40
QBID:10115148415

What is the first firing temperature of Bone-China?
(1) 1250°C-1300°C

(2) 950°C-1050°C

(3) 1300°C-1350°C

(4) 850°C-950°C

SH-AEA1 F 60 W SaTe (BT d9EE 1 82
(1) 1250°C-1300°C

(2) 950°C-1050°C

(3) 1300°C-1350°C

(4) 850°C-950°C

1[Option ID=30025]

2[Option ID=30026]

3[Option ID=30027]
4[Option ID=30028]

Sl. No.41
QBID:10115148416

What is Smtering?
(1) firing stage

(2) making process
(3) designing process
(4) glazing process
o A R = &2

(1) TF S AT 2




(2) % =99 F uiHa B
(3) UF fiFe (Ewgm = ulEa 2
(4) U= WET Fi wiE 8

1[Option ID=30029]
2[Option ID=30030]
3[Option ID=30031]
4[Option ID=30032]

Sl. No.42
QBID:10115148417

Which of the following mixtures will create yellow colour?
(1) Tin Oxide + Chrome Oxide

(2) Antimony Oxide + Tin Oxide

(3) Iron Oxide + Nickel Oxide

(4) Antimony Oxide + Iron Oxide

39 @ @1 =1 oo dren 1 s 82

(1) &7 sfiess + ®iF sfiess

(2) TEHA Hiamgs + &7 sfess

(3) A HiFEs + e saags

(4) TEHEA TS + WO HEEs

1[Option ID=30033]
2[Option ID=30034]
3[Option ID=30035]
4[Option ID=30036]

Sl. No.43
QBID:10115148418

What is Dolomite?
(1) Double carbonate of Magnesium Silicates

(2) Double carbonate of Magnesia and Calcium
(3) Caleium Sulphate
(4) Alind of Feldspar

SIaHSe T 87

(1) Oty faferdse &1 fg-wahe

() Ty iR wfcqgd & fg-sEe
(3) Hfcggy gohe

4) T UFR FIHEHER

1[Option ID=30037]
2[Option ID=30038]
3[Option ID=30039]
4[Option ID=30040]

Sl. No.44
QBID:10115148419

Which of the following Chinese dynastics is well-known for its Lead Glaze Pottery?
(1) Song Dynasty

(2) Ming Dynasty

(3) Tang Dynasty

(4) Han Dynasty

Fofafaa # 9§ 99 F $19-9 Todm ds wivs gRis & e o 91 8
(1) S IwEm

(2) 7 T

(3) & wrwdm

(4) & Ty

1[Option ID=30041]

2[Option ID=30042]

3[Option ID=30043]
4[Option ID=30044]




Sl. No.45
QBID:10115148420

What 1s Majolica?
(1) Tin-glazed earthenware
(2) Lusterware from Maya Civilization

(3) French Terracotta Pot
(4) Pot cover by Terra Sigillata

Aiifernt o1 82

() fe s gl & adH

() O Tal ¥ gES e a0
(3) T P S

@) X1 fafSerer @ smafkd ad=

1[Option ID=30049]
2[Option ID=30050]
3[Option ID=30051]
4[Option ID=30052]

Sl. No.46
QBID:10115148421

Where did celadon Glaze originate?
(1) China

(2) Japan

(3) Korea

(4) Greece

IS WS Pl IGd BBl g
@

(2) 9

) iR

4) Iy

1[Option ID=30053]

2[Option ID=30054]

3[Option ID=30055]
4[Option ID=30056]

Sl. No.47
QBID:10115148422

Which glaze results in the odd one out of the following?
(1) Chun White

(2) Celadon Blue

(3) Celadon Green

(4) Tin Chrome Pink

9 & @ F= @ Wiy &1 gioms 399 (@ 2

(1) = ¥he

(2) e

(3) Hu-&1

(4) 3 =W qaEt

1[Option ID=30057]
2[Option ID=30058]
3[Option ID=30059]
4[Option ID=30060]

Sl. No.48
QBID:10115148423

Which of the following clays is the odd one?
(1) Ball Clay

(2) Red Clay

(3) Fire Clay

(4) Kaolin




Prden @ g e e
(1) Tt gt (@i =)
(2) @@ &g Gs =)
(3) firee FET (TaT =)
(4) = gt @rsiier)

1[Option ID=30061]
2[Option ID=30062]
3[Option ID=30063]
4[Option ID=30064]

Sl. No.49
QBID:10115148424

Which material is best to use in glaze to localize reduction (for Copper Red) in electrical kiln?
(1) Silicon Carbide

(2) Wood Ash

(3) Barium Dioxide

(4) Alumna Oxide

== w1 yer fagga w2 # @i o o) it soeme & g g & sog F R iy g e @ 2
(1) fEfe= seiss

(2) TS HH

(3) g sEsiimmEs

(4) Ty ofisss

1[Option ID=30065]
2[Option ID=30066]
3[Option ID=30067]
4[Option ID=30068]

Sl. No.50
QBID:10115148425

What 1s Rutile?
(1) Iron Titanium Mineral
(2) Compound of Iron and Chromium

(3) Magnesium Silicate Hydrate
(4) Hydrated Calcined Iron Oxide

Eegd Jre?

(1) gl ersei-ad @i

) TR AR HifEH & AifS

3) Ty faferde srees

(4) TIESlCS Dics O Hiaes

1[Option ID=30069]
2[Option ID=30070]
3[Option ID=30071]
4[Option ID=30072]

Sl. No.51
QBID:10115148426

Why 573°C is important for any ceramic firing?

(1) Produce carbon gases

(2) Chemically combined water of the clay is driven off.
(3) Quartz inversions and Conversions

(4) Vitrification started

fot ot fatfore oo & Rm 573°C A =0t Agagyl 27

(1) FEF T 39T Hl ¢

(2) ol &1 TEgAT: 9hifad @@ &1 3sH

(3) T W@ R Faia

(4) TRfFSEE &1 3RaA




1[Option ID=30073]
2[Option ID=30074]
3[Option ID=30075]
4[Option ID=30076]

Sl. No.52
QBID:10115148427

Which Shape is most suitable to keep the wet clay for longer time?
(1) Slab

(2) Pyramid

(3) Coil

(4) Sphere

HH-TT PR T g o s T & w@a & o Suga &2

1) g
) RIS
(3) Pisd
(4) TMATHR

1[Option ID=30077]
2[Option ID=30078]
3[Option ID=30079]
4[Option ID=30080]

Sl. No.53
QBID:10115148428

What is the process of making soluble to non-soluble toxic to non-toxic called?
(1) Ball-milling

(2) Calcinations

(3) Pot-milling

(4) Fritting

et & afacy, foued § sfdured 91 &1 wiem =1 =0 #5d 2

(1) TferT g9 e i)

(2) FRATA (@R

(3) ge-guuft (ure-fafeEm

(4) 3T (el

1[Option ID=30081]
2[Option ID=30082]
3[Option ID=30083]
4[Option ID=30084]

Sl. No.54
QBID:10115148429

which one is the most appropriate remedy to avoided pinhole i glaze?

(1) Hold the kiln at the glaze maturing temperature for a soaking period much longer.

(2) Decrease the silica in either the body or the glaze

(3) Increase the alumina, i.e. the clay content

(4) Fire at 20° to 50° lower

5 1 O o O ged 9% 9 999 31 Sffd 3Uged S/ 1 82

(1) R-TR HaiY DI 3D T F0G Teb 1@ & o0 Ui I U drgu= R 1@ 58 4§ Torax i |
(2) & I17co | i ®f &8 S|

(3) TG DI ggH oY o gl &7 Simn

() 20° ¥ 50° TP AT W IBHT

1[Option ID=30085]
2[Option ID=30086]
3[Option ID=30087]
4[Option ID=30088]

Sl. No.55
QBID:10115148430

Where did Jomon pottery originate?




(1) China

(2) Korea

(3) Mesopotamia
(4) Japan

T dedt BT 3%d Fel gom
(1) &=

(2) =ifn

(3) F¥igrErtm

(4) I

1[Option ID=30093]
2[Option ID=30094]

3[Option ID=30095]
4[Option ID=30096]

Sl. No.56
QBID:10115148431

Why do potters use grog in clay body?
(1) Increase Plasticity

(2) Reduce Porosity

(3) Reduce Shrinkage

(4) Reduce Firing temperature

it ST ATl gt & it fiemar W g
(1) gooadl sgH & forg

(2) AT P FH B & (a0

(3) IHTH B HH B & [0

(4) AT UM FH B & U

1[Option ID=30097]
2[Option ID=30098]
3[Option ID=30099]
4[Option ID=30100]

Sl. No.57
QBID:10115148432

What is Chun Ware?
(1) The best known of the Tang dynasty tricolor wares

(2) White porcelains produced during the Joseon dynasty
(3) The best known of the Sung dynasty white wares

(4) Japanese wine bowls.

T BT T T 87

(1) R 9% F1 9T FAT A1 e J T B T

(2) TG 9% & 990 9%e 91 2] &1 S 54

(3) T AN T IF WA W aT Fibe Fo

(4) WS BRTE 1 @

1[Option ID=30101]
2[Option ID=30102]
3[Option ID=30103]
4[Option ID=30104]

Sl. No.58
QBID:10115148433




Identify the name of given Greek pottery

(1) Kantharos

(2) Lekythos

(3) Omochoe

(4) Hydna

di® Uit & =19 & dga Hiadl

(1) SR
(2) @
(3) eMEgEm
(4) EEgE
1[Option ID=30105]
2[Option ID=30106]

3[Option ID=30107]
4[Option ID=30108]

Sl. No.59
QBID:10115148434

What kind of process shown in given picture?

(1) Trimming

(2) Jollying

(3) Casting

(4) Jiggering

S €1 8 o B e ven 91 uie fas 1E &

Jf— a
b
//‘—‘\-S
(1) g9Fda (2fim
(2) @i
(3) TERd (@)
(4) e (femm

1[Option ID=30109]
2[Option ID=30110]
3[Option ID=30111]
4[Option ID=30112]




Sl. No.60
QBID:10115148435

What kind of decoration is done by potter in the following picture?

(1) Inlay

(2) Sgraffito

(3) Slhip-Telering

(4) Sprigging

fwfafan fm & fow veR 1 Tuwe diew gr #1778 27

(1) woE

(2) o

(3) f&m fes cafem
(4) =fm

1[Option ID=30113]
2[Option ID=30114]

3[Option ID=30115]
4[Option ID=30116]

Sl. No.61
QBID:10115148436

Carboxy methyl cellulose (CMC) is a glaze binder. It also works as:
(1) Fluxing agent

(2) Stabilizer

(3) Suspending agent.

(4) Colouring agent

Fraias AT A (CMC) T SITd SRD! § I8 3R I8 59 a<e  $1 Fal g |
(1) AR BRS (TG Toic)

2) ®ESRI (Flddrger)

3) Hdfad PR® (TS o)

(4) M ardl BRSD

1[Option ID=30117]
2[Option ID=30118]
3[Option ID=30119]
4[Option ID=30120]

Sl. No.62
QBID:10115148437

Nepheline syenite is used as the substitute of:

(1) Quartz

(2) Feldspar

(3) Talc

(4) Kaolin

Iftenss ST R s # o SuEe B
(1) wEw

(2) e

(3) <=

(4) FafifeH




1[Option ID=30121]
2[Option ID=30122]
3[Option ID=30123]
4[Option ID=30124]

Sl. No.63
QBID:10115148438

The reason for the decrease in the size of different clay during drying and firing is
(1) Malleability

(2) Plasticity

(3) Bendability

(4) Tenacity

faftm ot &1 oo o e Hg HER H SH 51 7 SR a7

(1) seEe @RmREED)

(2) Yocgar (anfefad)

(3) gHTaTal (dsefEteh

(4) FEufyoTee (AR

1[Option ID=30125]
2[Option ID=30126]
3[Option ID=30127]
4[Option ID=30128]

Sl. No.64
QBID:10115148439

Ceramic ware with an iron oxide glaze fired in a reduction atmoshpere producing range of colors from olive to grey-green, olive, blue, or
blue- green.

(1) Raku

(2) Kaki Glaze

(3) Tessa

(4) Celadon

TR SHiFIES goa RS 3 & e a1 [awrid fF8 o R 3ifte § g 99 oifte, Fian a1 o gu fBfty 3 o= swar 2
(1) TF

(2) == wa

(3) &

(4) WA=

1[Option ID=30129]
2[Option ID=30130]
3[Option ID=30131]
4[Option ID=30132]

Sl. No.65
QBID:10115148440

What is the role of Damper during firing in ceramic kiln?
(1) This is the device that regulates the size of the opening of the flue in kiln.
(2) By this device one can reduce the temperature in kiln.

(3) Use to safe ceramic ware from direct flame
(4) This device helps control the heat mside the kiln.

fofis W2 & vaeH & 990 SR 91 a1 yfie gl @

(1) T% 9% OF & o 4E H SuF &1 god & HER & Haiid &l
(2) 5999 5 R YE &1 G109 B S 96 3

(3) Ffs sdat & el auet 9 [Rigm wea & Som & &)
(4) T% T3 W2 F 33 =1 am FEfE e § S sl ¢

1[Option ID=30137]
2[Option ID=30138]
3[Option ID=30139]
4[Option ID=30140]

Sl. No.66
QBID:10115148441




Which type of kiln is shown in picture?

(1) Gas kiln

(2) Wood kiln

(3) Downdraft kiln
(4) Updraft kiln

fom & g ver 31 v fmd i &

1[Option ID=30141]
2[Option ID=30142]
3[Option ID=30143]
4[Option ID=30144]

Sl. No.67
QBID:10115148442

The Vase given in the image below originated from which country?

(1) Greece
(2) Japan
(3) China
(4) Korea

Hr faw g == F i w1 Ow e A gam




1[Option ID=30145]
2[Option ID=30146]
3[Option ID=30147]
4[Option ID=30148]

Sl. No.68
QBID:10115148443

Which one of the following is the chemical formula of Tin oxide?
(1) 5Sn0,

(2) TiO,

(3) SO

4 Li,0

B & @ w1 T feT sifeag &1 voaie g7 &
(1) Sn0,

(2) TiO,

(3) SO3

4 Li,O

1[Option ID=30149]

2[Option ID=30150]

3[Option ID=30151]
4[Option ID=30152]

Sl. No.69
QBID:10115148444

Which one is the correct timeline of Chinese history?

(1) Jin Dynasty. Song Dynasty, Qm Dynasty. Han Dynasty
(2) Han Dynasty, Qin Dynasty. Song Dynasty, Jin Dynasty
(3) Qin Dynasty, Han Dynasty. Jin Dynasty. Song Dynasty.
(4) Qin Dynasty, Song Dynasty, Han Dynasty, Jin Dynasty.
9 & shog 31 |98 & @ -4 22

(1) 5= g, |fv g, fb 9w, g1 aw

(2) oM gulfdE duiah defsm g9

(3) &= dwigH d9u.fom o=, @ 9w

(4) & dwEmm dw, 7= dm s g,

1[Option ID=30153]
2[Option ID=30154]
3[Option ID=30155]
4[Option ID=30156]

Sl. No.70
QBID:10115148445

What kind of teapot is shown in picture below?

TN T RIS

(1) Japanese Raku

(2) Indian Black Pottery

(3) Yixing teapot

(4) Greek Teapot

2 ¥ fd VR 31 913 1 Had guis T &

Ty




(1) S UE

(2) uda Bt g F wda
(3) T 9 &1 wadl
(4) AT 911G B Fadl
1[Option ID=30157]
2[Option ID=30158]

3[Option ID=30159]
4[Option ID=30160]

Sl. No.71
QBID:10115148446

Which dynasty developed the Long Qin Celadon Glaze pottery?
(1) Song Dynasty

(2) Qin Dynasty

(3) Han Dynasty

(4) Tang Dynasty

HH I F I T FeA Wy el st B

(1) wHhrdm

(2) fFaam

(3) B AW

(4) Zdm

1[Option ID=30161]
2[Option ID=30162]
3[Option ID=30163]
4[Option ID=30164]

Sl. No.72
QBID:10115148447

Which one of the following is the Korean brown celadon ware?
(1) Bun-Cheong

(2) Baek-Ja

(3) Nerikomi

(4) Yue-ware

4 & 3 F5 9 Fifa 5187 S8 904 27
(1) == =g

(2) SMEE I

(3) Hi=wm

(4) LI

1[Option ID=30165]

2[Option ID=30166]

3[Option ID=30167]
4[Option ID=30168]

Sl. No.73
QBID:10115148448

What is Calcite?

(1) Calcium Carbonate
(2) Calcium Silicate
(3) Calcium Sulfide
(4) Calcium Kaolin

BTHIgE 1 57

(1) FEmm FEHe
(2) Hiemw fafse
(3) Famw ToFEs
(4) fef weife

1[Option ID=30169]
2[Option ID=30170]
3[Option ID=30171]
4[Option ID=30172]

Sl. No.74
QBID:10115148449




Which one of the following is White Lead?
1) Pb304

(2) 2PbCO,.PB(OH),
(3) PbCrO,

(4) La,0q

P E o9 W gk 9 &
(1) PbyO,

(2) 2PbCO,.PB(0OH),
(3) PbCrO,

(4) La,0O,

1[Option ID=30173]
2[Option ID=30174]

3[Option ID=30175]
4[Option ID=30176]

Sl. No.75
QBID:10115148450

The Plater shown in the image originated from which civilization?

(1) Greek Crvilization

(2) Maya Civilization

(3) Indus valley Civilization
(4) Mesopotamian Civilization

o= # fgmns s =< axadl &1 Swd B I e F g un?

(1) FiE Twar

(2) A/ T

(3) T=9 e T
(4) wFEEE T
1[Option ID=30181]
2[Option ID=30182]

3[Option ID=30183]
4[Option ID=30184]

Sl. No.76
QBID:10115148451

Ilmenite is a compound of iron and
(1) Chromium Oxide

(2) Magnesium Oxide

(3) Tin Oxide

(4) Titanium Dioxide

SHARE Al AR 1 OIS &l
(1) ®itE AHless

(2) i siegs

(3) f&A silmmgs

(4) T Sfiewrss




1[Option ID=30185]
2[Option ID=30186]
3[Option ID=30187]
4[Option ID=30188]

Sl. No.77
QBID:10115148452

Lead Carbonate is also known as:
(1) Lead Bisilcate

(2) Red Lead

(3) White Lead

(4) Lead Chromate

T FEE F IR FT I T &
(1) Ts FERRHe

(2) @@ g

(3) g =

(4) FswEe

1[Option ID=30189]
2[Option ID=30190]
3[Option ID=30191]
4[Option ID=30192]

Sl. No.78
QBID:10115148453

What is Zircon?

(1) Zincite

(2) Zirconium Silicate

(3) Zirconium Dioxide

(4) Zinc Oxide- Alumina-Silicate
[EEIRE N

(1) frse

(2) T=itan faReee

(3) Fitam sEafwss

e

(4) Tiw siiegs tegim Rt

1[Option ID=30193]
2[Option ID=30194]
3[Option ID=30195]
4[Option ID=30196]

Sl. No.79
QBID:10115148454

CaS0,.2H,0 is the chemical formula of which material
(1) Calcium Borate

(2) Calcium Carbonate

(3) Calcium Phosphate

(4) Plaster of Paris

Cas0,.2H,0 fora ved =1 TeEtE =

(1) FEmm ane
(2) *emm wEie
(3) Hivmm BT
(4) wmex #HTE oh
1[Option ID=30197]
2[Option ID=30198]

3[Option ID=30199]
4[Option ID=30200]

Sl. No.80
QBID:10115148455




Given below are two Statements:
Statements I: Large Particle size prevent china clay reduce the clay body plasticity
Statements II: Large Particle size prevent china clay to reduce warpage during firing

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mecorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct

TR EE Rty

FUT [ 92 HER & S0 9 [0g1 S FE B ovg @ Yoead 1 FH EH 9 5919 §
FU [: 98 HER & & 91 B2 &1 ger 97 Aggal § w9 2

SIRIE eFf FYE F omae §, A1 G 1 fiedd! ¥ § 999 Sugs 9T ¥ 99 S
(1) F¥E] AR HYF I g 98 7

(2) Ty [ R FF 1 SH 709 &l

(3) FYA1 WE & e YA 11 7o 2

(4) FY= [ a4 & dfed uF 11 980 &

1[Option ID=30201]
2[Option ID=30202]
3[Option ID=30203]
4[Option ID=30204]

Sl. No.81
QBID:10115148456

Given below are two statements:
Statement I: Dolomite is used in stoneware glaze both as a flux and give glaze a pleasing matte surface
Statements IT: Dolomite is an alumina silica base prevent the stoneware glaze become too viscous.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mcorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct

fFRaFERume

HY [ SIGHAEE F1 U RenHis § SF1 afias (wae) #1 tig SR S (o) F aEus JE 908 o & o 9ug B B
Fu [1: SToETSE U dE degi Riftese S fRwmyis % ©9 =1 i gam 55 F a9 2

TR S FE F o 1, A9 iy U et § € 999 S SR 31 997 S
(1) FYA 1 AR U 11 <1 T8 2l

(2) FYF [ 3R ¥4 1 a1 Ted ¢

(3) FYA [ WEl ¢ S & I1 7Taa 2l

(4) Fu= | T 2 Aifes wu= 11 981 2

1[Option ID=30205]
2[Option ID=30206]
3[Option ID=30207]
4[Option ID=30208]

Sl. No.82
QBID:10115148457




Given below are two Statement
Statement I: Zine Oxide is an active flux in small quantity like 2%
Statement II: Raw Zinc Oxide is a cause of pinhole in high temperature glaze.

In the light of the above statements. choose the meost appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mecorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct

TR EE Rty

FuT . e sifsass s oA 38 2% H U wipa uae &
FU [1: == foi sfeags 9= Oy Wy § B 8 &y &1 $R 8l

TR S FE F o 1, A9 fGn U e § § 999 Suge S 31 997 S
(1) FYFI AR e 11 SHf T 2

(2) T4 [ R A 1 S 704 &

(3) HYF1 TE E e YA 11 e B

(4) F¥F [ Tad & oftd SuF 11 98 21

1[Option ID=30209]
2[Option ID=30210]
3[Option ID=30211]
4[Option ID=30212]

Sl. No.83
QBID:10115148458

Given below are two Statements:
Statements I: Wood ash has a chemistry similar to a ceramic glaze, so it can contain important proportions in a glaze recipe.
Statements IT: The Components of different wood ash types varies unique for different types of wood

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mcorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct

fFRaFERume

Fu [ FRfoe iy 1 ave asel &1 o # 1 T W60 O 8, 59 SR S Wy I # SHE1 Aeayul $9Td 5 9% ol
B I1: faftrs ver &1 velsdl &1 79 & ues Gl ver & ascl & fou [ty v d im e

TR S FE F o 1, A9 iy U et § € 999 S SR 31 997 S
(1) ] IR 11 g =81 8

(2) T3 [ R FF 1 S 709 &l

(3) FYA ] ¥l ¢ Afeed FY= 11 7T &

(4) Fu= [ T 2 Ofe= Bu= 11 96 &l

1[Option ID=30213]
2[Option ID=30214]
3[Option ID=30215]
4[Option ID=30216]

Sl. No.84
QBID:10115148459




Given below are two Statements:
Statements I: All clays shrink during drying from their wet plastic state.

Statements IT: Different bodies exhibit differing drymng shrinkage: if the water content of a plastic-forming body is low. drying shrinkage
can increase.

In the light of the above statements, choose the most apprepriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mecorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct

TR EE Rty

FUT [ gEd & e ot fafgat et ond wnfies e @ figs ol 2
Fu I1: fafts venel apm-emm g, fige =1 veitla =tar & oz urht 31 amn sl wifes o ok el & 9 2 & e g sg I=ar 2

SRIE eFf FYE & omae §, A1 G 1 e § € 999 ougs O ¥ 99 S

(1) sy SR BYA 11 SHT ¥l B
(2) &y 1§k &Y 11 SH 7od g
(3) FuA] FEl B s HyA 11 9 B
(4) FYF [ T & dices BuF 11 T8 &l
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Given below are two Statements:
Statements I: Giant multicolored erystals grown on a super gloss low alumina glaze by controlling multiple holds and soaks.

Statements II: Crystals can form during cooling and solidification in many kinds of glazes and they can be microscopic or very large,
widely scattered or completely covered.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Given below are two Statements:

Statements I: Ceramic ware is fired twice, once to prepare it for glazing (called bisque firing) and the second time to melt the glaze onto
it.

Statements II: Firing bisque is needed as higher temperatures and longer soaks burn off more products of decomposition: which
produces more defect-free glaze surfaces in the final firing.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are meorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Given below are two Statements:
Statements I: Alumina oxide help to decrease the viscosity of glaze during firing.
Statements IT: Almost all glazes contain clay; it supplies alumina oxide to the glaze chemistry.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is imcorrect
(4) Statement I is incorrect but Statement II is correct
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Given below are two Statements:
Statements I: Fire clay is a primary clay because they contain high concentrations of Al,O5 and low concentrations of fluxes.

Statements II: Clays that are resistant to deforming and melting at high temperatures is called fireclays. Kiln bricks are often made from
fireclay.

In the light of the above statements, choose the most apprepriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mecorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Given below are two Statements:
Statements I: Barium carbonate powder is dense and white and it is a matting agent in high temperature glaze.
Statements II: Barium Carbonate has high index of refraction, which can enhance and brighten m-glaze colors.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Given below are two Statements:

Statements I: Quartz is the mineral form of silica used in ceramic glazes and clay bodies. Quartz sand is often used in bodies to increase
thermal expansion.

Statements II: Flint s a microerystalline form of silica and has a very different physical appearance.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mecorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Given below are two Statements:
Statements I: Matte Glaze is a glaze that is not glossy. It is micro erystalline surfaces.
Statements IT: Sometime un-melted glazes are not glossy, and it's considered as matte glaze.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement II is correct
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Given below are two Statements:

Statements I: Clay is added in glaze as a source of alumina oxide as well as to make the glaze slurries to improve dry hardness and
adherence

Statements IT: Clay added in glaze reduces deflocculation of glaze shurry.

In the light of the above statements. choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mecorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Grven below are two Statements:

Statements I: Raw barium carbonate powder 1s known as a poisonous substance. Many frits contain barium and are considered relatively

safe to handle

Statements IT: It is harmful to add Barium sulfate powder is insoluble in clay.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Given below are two Statements:

Statements I: Pug-mill's main function is to mixing and wedge clay body.

Statements II: Pug-mill can be used to de-air the clay body.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II 1s incorrect
(4) Statement I is incorrect but Statement II 1s correct
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Given below are two Statements:

Statements I: Mishima ceramics comes from the JTapanese Island of Mishima. In this surface design technique drawing is done by
inlaying a slip of contrasting color into lines on the pot surface.

Statements IT: Inlaying a slip of contrasting color into lines in Mishima ceramics can be executed when ware become bone dry.

In the light of the above statements. choose the mosr appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Given below are two Statements:

Statements I: A layer of slip applied to ware to change the color of the body which has a proportion of flux between the fired properties of
a slip and a glaze.

Statements II: The above-mentioned technique is also used for surface decoration.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Given below are two Statements:

Statements I: A mixture of ceramic oxides which are melted together into a glassy state. quickly cooled. and then finely ground: Usually
used in glaze recipes as generally insoluble sources of oxides.

Statements II: The above-mentioned melted mixture is also used to make msoluble materials soluble.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Given below are two Statements:

Statements I: Grog is a pre-fired and then ground into particles of various sizes and when added to a clay body provide texture and
workable strength.

Statements IT: Addition of grog will increase the shrinkage of clay body.

In the light of the above statements. choose the mosr appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are meorrect
(3) Statement I is correct but Statement IT is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Grven below are two Statements:

Statements I: Porcelain is made from fine. china clay. with added ingredients such as feldspar, and fired at minimum 1260°C. It is smooth,
translucent white and very strong.

Statements II: Vasco da Gama in his travels introduced porcelain into Europe.

In the light of the above statements, choose the mest appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct
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Given below are two Statements:

Statements I: Celadon glaze pottery originated in China during Eastern Han Dynasty

Statements IT: In Korea. the celadons produced under the Goryeo Dynasty were observed as the classic wares of Korean poreelam.

In the light of the above statements, choose the meost appropriate answer from the options given below

(1) Both Statement I and Statement IT are correct

(2) Both Statement I and Statement IT are mecorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct
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